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"����#��	$������%	�	

&���	�	��	����������	��	� 	
���	�����	�����������	 �→�� � 	��	������	 �� 	'	�������	����	

��	 ������	 �����	 $ �%$� =∈∀ ���� �	 ��	 �(����	 �→�� � 	 ��	 ������	 �� 	 �����	 )��	

%%$�(�$%$� ������� =∈∀  	*�	������	���(	���������	�	���������	����#����	��	 π	
 	$ �∈	 %	��	

��	�	���	��	������	 
� �	�	�+���	�����	��	��	�	
%$
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−=∈∀ 	
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�	�+�������	���#������	��	�	��	�������������	��	������	 �� 	��	�+��������	��	� 	

	

-����������	�	


���	 �����	�����������	 �→�� � 	��	������	 
� 	 $ �≥
 %	 ���	 �+����������	 �	��	 �+��������	

����	 ��	 �(����	 ���(	 ������������	 ��	 ������	 
� 	 .� +→ ��� 	 ��	 �→��θ 	 ������	 )��	

%%$�(�$%$%$� �������� θ=∈∀ 	
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• !�	 �������	���	 ���������	 ��	 ������	 
� 	 ��	 ε 	 �����	 �����������	 εψ →�� 	 ��	

������	 
� 	 �������	 ���	 �	 ����������	��	 � 	 /+�����	 %$�ψ=Γ 	 ���	 ��	 �������	 ��	

�+��� 	ψ 	���	���	��������������	���������)��	��	 Γ  	!�	������	�������	 %$�� 	��	

����	��	 %$�ψ  	


���	 ��∈ �	 %$�ψ 	�+�������	�����	��	�����#���	� 	0�	�����	�	��	�������	���������	

��	���)��	�����#���	���	���	������	1	��	���	���	��������	����	��	���	���������	$��	�������	

��	 �����������	��	������	��������	 �������2%	 /+���	 ���	 ���	 ������	 ��	 ����	 ���	 ������	 ����	

��������	�����3'3����	��	ψ 	���	��4������ 	

• 5���������	�	

/�	�����#���	 6� 	 ���	���	 ��������	 ��	 �� ∈≠ 6%$� 6

��ψ �	���	 ��������	��	������������	 ��	

6%$� 6

��
=�ψ 	

0�	���	����	����	�����#���	���	��������	���	���	���3�7��	�������� 	

/���)��	 
≥
 �	 ��	 �����#���	 6� 	 ���	 ���	 ����������	 ��	 ���	 ���(	 ��������	 ��������	

�������	 %$� 6�ψ� 	��	 %$�� 6�ψ� 	����	������������	����	�
1	��	���	���	���	����������	����� 	
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• 8�������	��������	�	

!�	���	)��	ψ 	��������	���	�������	�������	����)��	�	����	����	�	$�	�����	���	�����	

��	�%	����)��	����	 ε∈� 	��	 	�����	)������)��	��	��	 %$��ψ 	����	����	 ∞+ 	����)��	

�� → 	

	

	

8%	-���	�)����������	����������	��	�����#����	�����������	
	

• ,���������	�	

,��(	����	����������	��	������	 
� 	 εψ →�� �� 	$ 
��=� %	����	����	 
� 9�)���������	

����)�+��	�(����	��	 
� 9���������������	 
�� �� →θ 	���	)��	 θψψ �
� = 	

0�	 ���	 θ 	 �+�������	����������	��	�����#���	���������� 	!�	���	�����	)��	 �ψ 	 ��	


ψ 	����	���(	������������	�����������	��	�7��	��� 	


���������	�	

$�% ,��(	����	 εψ →�� �� 	 
� 9�)���������	���	��	�7��	�������	 Γ  	

$
% �� �� ∈ 	 ���	 ��	 �����#���	 ��������	 $���� 	 ����������%	 ��	 �ψ 	 ��	 ��	 ���������	 ��	

%$ �
 �� θ= 	 �+���	����	 
ψ  	 Γ∈� 	���	������	����	 �ψ 	��	��	���������	��	��	 �+���	

����	 
ψ  	

• 
���������	��	��������	��������)���	��������	��	�������	�	

&���	 Γ 	 ��	 �������	 �+��	 ���	 ��������� 	 !�	 �	 ��	 ��3������	 )���	 ����	 Γ∈� �	 ��	

������#��	 ������	 $���� 	 ��������%	 ��	 �����#���	 �	 ���	 ���������	 ���	 ����������	 ��	

�����#���	����������	1	��	���	�����	)��	�	���	��	�����	������	��	��������	��	 Γ  	


���	 �������������	 �+�����	 ��	 ��	 �����������	 ���	 ����	 ����������	 ����������	 '	

����������	 ���	 �������	 ��	 ����3���������	 ��	 ε 	 ���������	 $��	 ����������%	 ���	

����������	 ��	 �����#���	 ����������	�	 �+���	 ��	 ���	 ���	 ������#���	 �������	 ���������	

����������	1	�+���	�����	�����	��	��	��������	��	��	�����	�������	��	����	�����������	��	��	

���������	$����)��	���	)��������	�(������%2	

• !����������	�	

,��(	������������	 ρψ � 	�����������	�+��	���	 Γ 	����	���	��	�7��	�����������	��	

θψρ �= 	�:	θ 	���	��������� 	

����	 �������	 ���	 ��������	 �+�)���������	 ���	 �+��������	 ���	 ������������	

�����������	 ��	 Γ  	 �����	 ��������	 �����	 �(��������	 ���(	 �������	�	 ��	 ψ 	 ���	 ��	

�����������	 ����������	 ��	 Γ �	 ���	 ���(	 �������	 ����	 { }���������	�� θθψ �=� 	 ��	

{ }�����������	�
 θθψ �=�  	

!�������	 Γ �	�+���	�������	�+���	���	���(	������� 	!�	�������	���	�������	��	������	

%�$ �Γ 	�:	 Γ 	���	��	���	��	�	�+���	���	���(	������� 	

!�	�������	�����������	����������	������	��	 �+���	�������	 %�$ �Γ 	��	�����������	

��	 Γ 	����	��	������	���	� 	0�	�����������	��	�+�����	������	���	���	�������� 	
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�%	;�������������	��������)��	�	���������	�������	��	����	������	
	

;������������	�	

/�	 ��������	��	�����#���	 6� 	���	 ��	��������	�������	 ����)�+����	�(�����	��	��	������	

%%$%�$$ 6 ��� ψψ 	����)��	 6�� →  	!�	����	�����	�����	������	 %$ 6��ψ  	
���	������������	����	

��	 ���#���	�+���	 ��	 ������	�������	 ���	 %$ 6�ψ 	 ��	������	 ����)�+����	 �(�����	 ��	 ������	����	

6�� → 	��	��	�����	��	 %%$%�$$ 6 ��� ψψ  	!�	������	)��	�����	����������	���	������������	��	

���#���	��	)�+��	��	�����#���	
6� 	��	<	�	��	����	���	��������	��	)�+��	��	���������	���	���	

�������	 ∞± 	���	������ 	

&�	 %$ 6�ψ 	���	��	�����	������	��	��������	��	��������	����������	��	
6� 	����	�������	

��������	 ��	 %$ 6�ψ  	 !�	 ������	 )�+����	 ���	 ����������	 ���	 ����������	 ��	 �����#���	

���������� 	 -��������	 ����	 ��	 ��������	 ��	 ������	 )��	 ��	 �������	 ��	 ���	 ��	 ��	

��������������	���������)��	������� 	

&�	 ε 	 ���	 ��	 ����	 ���������	 $��	 ���������	 
%�	 ��	 ���������������	 ��	 %$ 6�ψ 	 '	 ��	

��������	 %$ 6��ψ 	�+�������	�������	��	 6� 	$��	��	 %$ 6�ψ 	�+��	���	������% 	

&�	 ε 	 ���	��	 ������	���������	 $��	���������	�%�	 ��	���������������	 ��	 %$ 6�ψ 	 '	 ��	

��������	 %$ 6��ψ 	�+�������	����	������	��	 6� 	$��	��	 %$ 6�ψ 	�+��	���	������%	

	


��������	�	

&�	 6� 	���	��	�����#���	��������	��	�+���	���������	��	������	 
� 	 εψ →�� �	 %$ 6�ψ 	

�����	����	 ��������	��	 6� 	 ��	������	�������	���	 %$ 6�ψ 	�������	���	 %$� 6�ψ�  	,���	 ��	���	

�+���	 ������	 ������	 ����	 ��	 ���#��	 )������)��	 %�$ �� �	 �+�)������	 ��	 ��	 ��������	 ���	

6%%$��%$$��� 66 =��� ψψ �
�

	

	

	

,%	;�������������	��������)��	
	

/���)�+��	 ���������	 ��	 �����#���	 �	 ��	 ������	 ��	 ���	 ���������	 ψ 	 ��	 ������	 
� 	

$ 
≥
 %	 ��������	 ��	 ���������	 �+��	 �����	 �������� 	 %$� �ψ� 	 ���	 ���������	 ��	 �������	

�������	��	 %$�� �ψ� 	��	�������	������������ 	

!�	�	�+��������������	��������	��	������#��	������������	��	��������	�	

&�	'	�+�������	 6� 	��	�������	���	���	������	��	�����	��������	���	���������	����	��	

���������	��	�������	������� 	

&�	 ��	�������	�+������	��	 6� �	 ��	�����	����	�+���7���	��	��������	����	���	���������	

)������)�� 	
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*%	
�������	 �+��	 ���	 ���	 �������	 '	 ���	 ������	 $���������	 
%	 ��	 ��	 ����	

$���������	�%	
	

/��	 ����������	 ���������	 ����	 �����������	 ���	 ����������	 ��	 �����#���	

����������	�	

• 5�����	�	 ��	 �<�������	 ������	 �	 ��	 ε 	 ������	 ε 	 ��	 ���(	 ����3�������	

�����(�� 	&�	 �→εα � 	���	���	�����	������	���	���������	�����	)��	 6%$ =�α 	

���	 ���	 �)������	 ��	 ��	 ���	 ����3�������	 ����	 { }6%$� >∈ �� αε 	 ��	

{ }6%$� <∈ �� αε  	

• ���	�+��	�����	'	��������	�����	�	

��������	�	

&���	 εψ →�� 	��	���	���������	��	������	 
� 	$	 �≥
 %	 ��	 �	 ��	 �<�������	 ��	 ε 	

�+�)������	 6%$ =�α 	���������	 %$ 66 �� ψ=  	

$�% &�	 %%$$ �ψα 	������	��	�����	����)��	�	�����	���	��	������	 6� �	�����	�	��������	��	

�������	 Γ 	��	ψ 	��	 %$ 6�ψ  	

$
% &�	 %%$$ �ψα 	��	������	���	��	�����	����)��	�	�����	���	��	������	 6� �	�����	�	��	

��������	���	��	�������	 Γ 	��	ψ 	��	 %$ 6�ψ  	,�	�����	��	 6� 	���	���������	�	��������	

%$ 6��ψ 	$����	��	��	���	��	���������	
%	

• ���	�+���	�������	�������	�+��	���	����	�	

���������	����������	�	

;���	 ε 	���	��	�����	�	���	������	��	 αψ � 	�����	��3������ 	!�	�������	��	����	)��	

ψ 	 ��������	 ���	 �������	 �������	 ����)��	 �� → 	 ��	 )��	 %%$$ �ψα 	 ����	 ����	 6	 ����)��	

�� →  	-����	�	���	��<������	'	ψ 	$��	��	�������	 Γ %	����)��	 �� →  	

	

		

�%	*����	��	���������	�+��	�����	����������	
	

!�	 ���������	 )��	 ���	 �������	 ��	 ����������	 ���������	 ����	 �����������	 ���	

����������	��	�����#���	����������	��	������	��	�����	 
�  	

!�	�������	���	)��	ψ 	���	��	���	���������	��	������	 
� 	�:	 
≥
 	��	)��	 6� 	���	��	

�����#���	���������� 	

• ���	�+��	���	����	�	��������� 	

!�	�������	���������	��	 %$ 6�ψ 	��	����3����	������	���	��	��������	��	���������	��	

����3������	�����	��	 %$ 6�ψ 	�������	���	 %$�� 6�ψ� 	

&�	 �	 ���	 ���	 ����	 ��	 ��	 ��	 �����	 ε∈� 	 ���	 ����	 ��	 ���������	 ��	 %$ 6�ψ 	 ��	 ��	

���������	��	 6%%$�%�$��$���%%$��%$$��� 6666 ≥× ����� ψψψψ ���
��

	

&��	����	��	���#��	 %��$ ���
��

�	 %$�ψ 	���	��	�����	��	�����������	 %%$%�$$ ���� �	��	����3

������	 �����	 ��	 %$ 6�ψ 	 �������	 ���	 �
�

	 ���	 ����	 ��	 ���������	 ��	 ��	 ���������	 ��	

6%%$�%$��%$��%$�%$$� 66666 ≥− ���������� 		

• ���	�+��	���	������	$��	���������	�%	�	����	���������� 	

!�	�������	����	����������	��	 %$ 6�ψ 	��	����	���������	 %$ 6�ψ 	��	������	���	���	���(	

��������	������������	 %$� 6�ψ� 	��	 %$�� 6�ψ� 	$ 6� 	���	����������%	
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?%	*����	��	���������	�+��	�����	���	����������	
	


��������	�	

!�	�������	)���	��	���������	��	 6� �	��	�	��	�������������	

%%$$%$%$%$ 666

�
�
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�������� −+−=�

=
ψψ 	 ����	 �� <≤� �	 6≠�� �	 
� 	 ����������	 '	 �� 	

����	 �
 < 	��	 �� 	���	����������	'	 ��  	

-����	 ψ 	 �����	 ����	 ��������	 ��	 6� 	 ��	 ������	 �������	 ���	 �� 	 ��	 ��	 �������	 ��	 ��	

���������	 ��	 6� �	 �+���	 ���	 �������	 ���������	 $�����������	 ���	 ����������	 ��	 ��������	

����������	��	������	��	�����	�%	�	

%$ 6�ψ

��������

�������

������	���������

�	�������	�	����

Γ

�����(���

�	�������	�	������

Γ

�������������	��

�����#��	���#��

�	�����	�	������

Γ

�	�����	�	����

Γ

�������������	��

���(�#��	���#��

	

*�	�����	�	


�����	 %$ 66 �� ψ=  	/+�)������	��	��	��������	���	 6%$ =�α 	��	�����	��	��	�������	

6%$ =�β 	�:	 %����$%$ 6 ����� =α 	��	 >=< ����� �%$ 6β 	

-�	���������	��	 6� �	��	�	�	

%%$$%����$%$%%$$ 66

�

��

� �������� −+−=ψα 	��	 %%$$%$%%$$ 6




6

�

�

� ������� −+−=ψβ 	

/�	�����	��	���	)���������	 ��	����	 ��	��������	��	 �+���	���	 �������	'	�������	���	

��������	���	�����	���	��	������	��	�	��	� 	

	

	

@%	A������	��������	�������	��	���#������	��	�+�����	�������	��	��	��������	
	

"����#��	�	

&���	 ε 	 ��	 ����	 ���������	 �������	 ��������	 ��	 ���#��	 ����������	 ������	 %��$ ���
��

 	


���	 �� →�ψ �	 ���	 ���������	 ��������	 ��	 ������	 
� 	 ����	 
≥
 �	 ��	 �(����	 ���(	

���������	��	�������	 �−
� 	 �→�� ��α 	������	)��		

%%%$���$%%$%$���$$%$�� ���������
��� ααψ +=∈∀ 	

!�	 �	 %$�%$�%$�%$ 

 ������� +== ψ� �	 %$���%$%$� ����� α= �	 %$���%$%$� ����� α= 	 ��	

%$���
%$�
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��
�� α== 	

,������������	�	

!�	����	 %%$%�$$%$ ����� =ψ 	$�����3'3����	 ��������
��

%$%$%$ +=ψ %	

*�	 %$�%$�%$ ������� += 	 �����	 �→�� � 	 ���	 ��	 ������	 �−
� �	 ��	 �+��������	 ��� 	 *�	

������	 %$%$ ���� = �	��	�(����	 �→��α 	��	������	 �−
� 	���	)��	 %$%$%$� ��������� α=∈∀ 	
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������	�+���	���������	 %$� ���� �∈ψ 	�:	 %$�� 	�	����	�����������	 %%$%�$$ ���� 	

• 
���	�	
!�	������	�	
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&+��	 �(����	 ���	 ��������������	 ������	 �	 �����	 )��	 %%$$%$� ������� =+∀ �	 ��	

�������	����	�	��	����	������	������	��������	��	��	�����������	�+�����	'	 [ ]��� +� 	�:	�	

���	���������	��������������	��	��������	�+������	����������	����������� 	

&+��	 �(����	 ���	 ��������������	 ������	 �	 �����	 )��	 %%$$%$� ���� �� =−∀ �	 ��	

�����������	�+����������	�+�����	'	 [ [+∞∩ �
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3 /��	����������	��	�	��	��	���	��������	��������	

3 /��	 ������	 ���	 �����������	 $������	 '	 ��������	 ��	 �����	 %$�� %	 ��	 ���	 ������	

����������	��������������	��	��������� 	

3 C�	���	�������	��	������	��	������ 	
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'	�����	 %$%$%$ ������� += 	

!�	 �	 �����	 ��������	 ���	 ���������	 ��	 �����������	 ��	 ������	 �	 ��(���	 �+����	 ���	

�����������	��������	 %$%$ ���� = �	 [ ]πθ %%$$-��%$ ��� = 2	
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6� 	�	
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3 &�	
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��	������	��	�����	 6�  	
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ε 	 �������	 ���	 ��	 ����	 ������	 ���������	 ��������	 '	 ��	 ���#��	 ����������	 ������	
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%�$ �� 	���	����(�	 ���� +=  	
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&���	�	 ��	 �����������	 %�$ ��  	!�	�������	������	��	�����������	��������	��	�	

����	������	 %�$ θ� 	���	)��	 θ����� = �	 θ����� = 	
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$�% &�����	��	�$	��	�����������	��������	�����������	 %�$ θ� �	 %���$ θ�  	!�	�	 �� = 	
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&�	 �� =� 	 $���� 	 �� −=� %	 ��	 6�  += θθ �	�	 ���	 ��	 ��������	 ��	 ������	�	 �+�����	 6α 	

$���� 	 πα +6 %	

&�	 �� =� 	 $���� 	 �� −=� 	��	 6�  +−= θθ �	�	���	 ��	�����(���	���	�������	'	 �+��������	

���	�����������	)��	���	��	������	�+�����	�������	 
E6 	$���� 	 
E
E6 π+ %	
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&���	�+���	���������	 %$��� � 	��	�����������	��������	 %%$%�$$ ��� θ 	$����F	��������	
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$%%$�%$%$��$%$�� �� �������%������� θθ θθθ ���
++−= 	

*�	������������	
6� 	���	������������	��	��	���������	��	 6%$�%$%$� 666 == ����� θ  	

&�	 �=θ �	�+�������	���	��	����	�����	��������������	������������ 	
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�+�����	�������	 %$�%θ
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3 /�	�����	��	 %$�� 	��	��E���	��������$�%	�����������	��	� 	

3 /+�����	���	��������	��������	�	
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